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- dEaesy 28,800
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52 50,0008 x 2% x 128 = 1,200
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ol gl dl 278,954 125,500 153,454
A 0l &F , ,000& = 278,
078,954 195500 153,454 O A&l |l Ns] 278,954,000 78,954
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2 (200) HEHIS 8 ¢ (230) REXAFS Mgt : (237) BII2HIZ S ¢ (405) Xt&FESHIS crel )
o =2 - ., o ) . _
A (o] = =
200 )
NEE=DYE= 2,063,400 770,309 | A 706,909
230
SRS 69,000 3,380 65,620
237
ZIPHIE 69,000 3,380 65,620
405
XHAHE SHI S 69,000 3,380 65,620
69,000 3,380 65,620 (01 XH&HE S|
O +CA&A M, OX 7Y 250,000 x 3674 = 9,000
O MRS A+TR3 HRAIAE 2= 60,000,000 x 14! = 60,000
280
H RS2 a s 1,744,400 ,347.600 | A603,200
282 )
¥EUz2 A2 as 1,346,000 346,000 0
601 ]
eI as 1,346,000 346,000 0
1,346,000 346,000 002 Al-2-PXNAWYIZHL2 A2 48
O XeAWLI2 A2 s 1,346,000,0002 = 1,346,000
289 o
JIEHHI RS2 A 8 398,400 ,001,600 | A603,200
612 o
JIEHHI RS2 A s 398,400 ,001,600 | A603,200
ZzEAIN2(R.WEXS ,400,0008 = 398,400
398,400 001,600 | £603,200 | © P2 WSH2) 398,400,000
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(200) Xt = cel : mMEl)
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N o & o = 2 o e 9l x
2 g 5 o o o
(sl 250,000 419,329 A 169,329
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ol Bl bl 250,000 419,329 A 169,329
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oll Bl gl 250,000 419,329 A 169,329
S | AF 2 =
050,000 419,329 A 169,329 O Xr=Z0lak olglgl 250,000, 000& 250,000
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= = =
e = o &4 u| = F = 7! =
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At H 6,712,509 1,841,495
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B - = =4 4,191,197 1,702,963
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ol 24 di 81,185 6,293
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Ao g 2 o S ol e
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O -+ 2422 0ade, IS GISYL o=y 44,292
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— &03 11,469,000 x 2% x 1/12x 300% = 5,735
— HE Sty 11,469,000 x 2% x 1/12x 120% = 2,294
- IEY 100,000 x 2% x 128 = 2,400
— ZEZz A 80,000& x 2% x 12& = 1,920
— 2Hotet= 36,640% x5 x 2% x 12&8 x 50% = 2,199
— XY 36,6403 x 2% x 20 = 1,466
- F5=¢ 36,6403 x 2% x 52 = 3,811
- 3224 22,937,000 x 1/12x 40% x 23| = 1,530
19,440 18,328 1,112 |04 JI2ZHHMZ2Z2NSE+
O Ex=2XTA BEX02 38,880% x 19 x 250 = 9,720
O S+8A X 012 38,880% x 19 x 250 = 9,720
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224 5,461,682 4,065,012 1,396,670
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D (710) 2¥HIE A& @ (713) B - 2=l = @ (201) Ler2g (ctg) : M
& @ &
& o = Z Ly = J| =
2 = o oo
— &= UMEel I X2 60,0003 x8AI2E x5 = 2,400
59, 145 37,910 21,235 |02 23294l
O 1. 22g= % HAl 59,145
— Ry 2 =Xl 2% d83Md AMAER
60,0003 x 33M & x 128 = 23,760
— RoOEHE % Hi=Xl CCTV 3l AEE
40,0003 x 33 & x 128 = 15,840
— EEANAE 28 ME3SH AIEE
60,000% x 24 A x 6& = 8,640
— SSALE 2A3t0Hce 3ld AIZE
40,0008 x24I & x 68 = 5,760
— 2mHe2 4,745
i EAamg REE 1,900& x 1,000 = 1,900
=NRYEZ XA REZ 1,900& x 1,0004 = 1,900
N 34 E8 REZ 2703 x 3,500 &~ = 945
— BIRECEC MBS (HES 149-1) 44m
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35,000& x 1H
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4,806,984

3,509,821

1,297,163

2,300,000

1,350,000
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60,000,000&
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300,000,000&
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1,940,

300
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2,400,900
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500,000& x 158 x 12&
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[ A3 ]
21 (700) AFHIE 8 @ (710) ¥HIE ME o (713) B - 22 2 @ (214) ST A el m )
ot =2 H oA -«
= ol  AF o = 2 A = J| =
o |5 NE = of &b o
106,084 77,921 28,163 |06 Al& & Ul S X 4
O Jte® AMI| 2 HI SX2HH 2,000,0002 x 3304 A 66,000
O IeE AS S 2,717€ x 767 2,084
O HAYMI SEU(ER,0S,8&) 1,500 x 1,200 4 1,800
O Y™ 22 Jy Sl 300,000€ x 101 x 12& 3,600
O SXzell 32,600
— GIS AAHARH SX 22l 2,500,000 x 24l 5,000
— M2 AEES X2FHBAAL(GIS) SX 22
20,000,000 x 14l 20,000
— S2EAFERY SX 1,000,0002 x 14! 1,000
— QoIfirdz MAaAIZZ SX Ul 550,0009 x 128 6,600
215
Sy 501,840 438,480 63,360
S2 A A A 2l A x6E
501,840 438,480 63,360 O Al 247} 20,0002 x 2401 & x 6 2,880
O JtE 33MHA 1,260,000 x 330 A x 12€ 498,960
300
AA0IH 345,000 45,000 300,000




[ 4221 ]
2 (700) AreiHI® & ¢ (710) SUIS g (713) B - 244 S ¢ (301) PN el M
o 2 H o4 &
_ Ab OH = 2+ AF = X
301
detE A= 45,000 45,000 0
45,000 45,000 012 Jiet243
O sgzE 2 lld2a= 20,000,000& x 141 = 20,000
O =83 A Id2a3 20,000,000& x 14 = 20,000
O &=t Za3 5,000& x 1,00024 = 5,000
307
grz2tol s 300,000 0 300,000
300,000 0 300,000 |02 QSIZtAMNEX
O MASZE 2UsS=2 HEXH At 300,000
- [=] 150,000,000& = 150,000
- [&] 45,000,000& = 45,000
— [Al] 105,000,000& = 105,000
717
= - Hi==3 AtHl 2,358,040 2,254,460 103,580
200
233t 2,358,040 2,254,460 103,580
231
&l & 3 AHYI 1,593,040 1,539,460 53,580
= (e} x~
1,593,040 1,539,460 53,580 O EX=(6258) 939,790
— D=13mm 871,000& x 150& = 130,650




w

At 2 (710) 2 dlE Mg o (717) 2 - il 2= 3 Akl A& B AHH| o : Mol
8 @ &
AF oH = 2+ | =
= = Gl &b oM
— D=20mm 1,124,000& x 100& 112,400
— D=25mm 1,283,000& x 250H 320,750
— D=32mm 1,699,000& x70M 118,930
— D=40mm 3,606,000& x 20& 72,120
— D=50mm 4,372,000& x 20& 87,440
— D=75mmO| &t 6,500,000& x 15& 97,500
O SHXE(7508) 653,250
— 2EIZS2 3M 871,000& x 750 653,250
232
i 2= S At 765,000 715,000 50,000
=T (N=13~ & ™ ,
765.000 715.000 50.000 O S X< (D=13~75mm) 1,000,000& x50 50,000
O SH X< (D=13~50mm) 500, 000& x 30& 15,000
O £ HHl(&s= 200,000& x 1,000m 200,000
O Jelgx=2 =H 500,000& x 1,000& 500,000




(700) AtHIE =ReliIR=) Mg« (751) ety S : (101) 2] (crol : ®l)
8 od =
S S Z ¢ = Il =
2 = ol & o
301,804 266,852 34,952
142,119 118,981 23,138
142,119 118,981 23,138
142,119 118,981 23,138 |01 2=
O 2 =g 142,119
— A2 2R4d 8,476%% x 208 x 40AI 2t x 128 = 81,370
- or22f+d 60,749
a2 (S5, =2EAM 8) 29
22,6002 x 142 x 4Nl 2F x 48Y = 60,749
200
23 159,685 147,871 11,814
201
dered 28,591 30,741 A2,150
7,240 7,390 A150 |01 At zteld]
O 1. LetgH| 7,240
- Y43CHY AUSSHI(BS) 3,700,000& = 3,700
- SASN 7Y 3,540
AT 21,0008 x 108t A x 128 = 2,520
B4 Xl 31,5008 x 28t A x 128 = 756




[ &= D ]
2 (700) AtEHI S gt (710) Sl = N& @ (751) ezl = @ (201) Ler2g crol - M)
ot = | o
_ AF o = 2 A = =
A3E X| 22,000& x 1A x 128 = 264
21,351 23,351 A2,000 (02 =324l

O1. 3322 2 MA 9,282
— BA2Y B32(38) 1,536,000& = 1,536
— d3e3 3,336
det = 40,0003 x 40H x 12& = 1,920
SHENES 50,0003 x 20H x 12& = 1,200
Hotsld AER(RAEIN) 18,000& x 12& = 216

~ 2SN NBR(EEEX Y 292 2X)
7503 x 885m = 664
— RIS MEH AIEZ 31,350& x 12& = 377
— XNSx 23 3wB(X 30) 3,369
S XA 142,000& x 304 = 426
dAtE=2 61,000 x3U = 183
Mol 9 ESHE 2 (LBHIHE) 800,000& x 304 = 2,400
NsX SEHE 23 60,0003 x 30 x 23| = 360
O 3. XAy 12,069
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Z:(700) AFHIB g : (710) 28 Mg : (751) 2erzal) S : (201) eyl cio s misl
i = X " &8 | & o “ B
_ A 0 = ES
o | & N = ol Al o A ol S = Al = J|
- 3=2(5E) 4,717,000 x 2CH 9,434
— S8 (4AE) 2,635,000& x 1CH 2,635
202
0d b 67,740 68,100 A 360
58,380 58,740 A360 |01 =LHO G
O FRIEPFAIWHI(2S) 20,000 x 17989 x 11 x 12& 44,880
O &S AE BIAIE &KX A350,000% x5% x3 x33 2,700
O B=SAMN M=Z2d U= 860,0008 x5% x32 x53] 4,500
O 2SAM28 2 Us =8I 60,0008 x58 x3 x53] 4,500
O JISHE AIEZ 22 A8 S XA
60,000& x2H x 3L x 53] 1,800
9,360 9,360 002 AN
O SEA, Ex==2EY EHAHH 260,000 x39 x 128 9,360
203
R =2A| 4,200 4,200 0
4,200 4,200 004 B2ASIEYERF=&XH
O BEA2g8 gR2F2AY| 350,000& x 122 4,200
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o

NELE= 5 (710) ZeiUIS Mg s (751) Lurzely] 2 (214) 26X DAY (ool : mE)
E 3 W &
of & o = 2 o s y ES
2 2 o A o
214 ]
SHSNDH 6,850 7,050 £200
6,850 7,050 A200 |06 Al EHl s Al
O #EIH Sl 6,850
— = A 200,000 x 10§ = 200
~ AEBH 150,000l x 250} = 3,750
— mRlE W WA 150,000 x 10T} = 1,500
— 2HD| 100,000& x 70 x 23| = 1,400




z 3 1 (230) RERLHS ME o (234) 222 = (401) AlEHIRL2OY (ol ma
= 3 @ ¢
o & o 5 2 & = | S
= o & o

12,704,227 11,175,263 1,528,964

2,269,307 4,029,804 | A 1,760,497

2,055,867 3,982,804 | A 1,926,937

2,055,867 3,982,804 | 11,926,937

2,020,000 3,947,000 | A 1,927,000 |01 Al&HI

O YAFLZE 01 AL O|HAZAF AALAHBA(2
3156 EH~IIAHT)
80,000,0008 x 14l = 80,000
O JAHHE =729 SHE S A 200,000
- [=Z] 60,000,000 x 1Al = 60,000
— [Al] 140,000,000 x 1Al = 140,000
O XNgatsz AX(XA) ZA 1,500,000,000& x 14! = 1,500, 000
O ATz SHEA 500,0009 x 4002AH = 200,000
O TIRIISE AN 222 A
30,000,0002 x 1A = 30,000

5,000,000 x 274 £ = 10,000
35,867 35,804 63 |03 A& =0yl
O LT AUAALZR 0 HTA ALY 2

80,000,000& x0.90/100 = 720




[ =Sn/
20 (200) HEHXE st 1 (230) RENAIS Mg : (234) PEES S 1 (401) AlEHIL SO (9 mR)
ot E 3 | o
= o & o = o = p] E
g ME = of & o
O JHYH =79 =STESA 200,000,000& x0.72/100 = 1,440
O Xghates SX(X4&)Z A 1,500,000,0008 x 0.36/100 = 5,400
O HAET2 SaeAl 200,000,000 x 0.72/100 = 1,440
O &4% =52 DI L B2 300,000,0008 x0.36/100 = 8,280
O M4T S4ap 1,925,000,0002 x 0.36/100 = 6,930
O L2z 255 DA 210,000,000 x 0.72/100 = 1,512
O &4+5 4T A 1,593,040,0002 x 0.36/100 = 5,735
O Holg4a 46 L B2 Zl
700,000,000 x 0.63/100 = 4,410
235
JIHEZ X 213,440 0 213,440
401
Al &80l 213,440 0 213,440
212,000 212,000 |01 Al &H]
O M4E S2dADEY AlAl 2=
400,000& x 5004 A~ 200,000
O JAZAALE Stollet A W, 000,000 x 3CH x 13 12,000
1,440 1,440 |03 Al& 2 THHI
O M4E S2AHDUEY AlAY 2=
200,000,000 x 0.72/100 1,440
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= g @ (260) HIDISEHIKAHSHE : (261) HLSAR & 2 ¢ (401) AlEHIZ RO (ool : mE)
= 3 4 =
o & o z 2 & = | ES
2 = o & o
- [Z2E] 800,000,000& = 800,000
O L7XY SHF4T A& I L AALHSY
1,000,000,000% x 141 = 1,000,000
O 445 S2FHAAY TS A 1,800,000,000% x 141 = 1,800,000
300,000 0 300,000 |02 22l
O OISHH4X 2L ZYAUMACL BYS4 S8 L2l
bl
300,000, 0002 x 14! = 300,000
34,920 36,459 A1,539 (03 Al ThHl
O YU XYMNATX ZAES AL DA
1,500,000,000% x 0.36/100 = 5,400
O Olsti==Xl &&ZSA 2,000,000,000%& x0.36/100 = 7,200
O BIIXNS NPALE ST IA
,750,000,000% x 0.36/100 = 6,300
O 21, JSXA NgasT XA
,250,000,000% x 0.36/100 = 4,500
O ZYABANALT B42Z B2
800,000,000& x 0.63/100 = 5,040
O 445 S2HA2AY I5 A
1,800,000,000% x 0.36/100 = 6,480




EREE Mg @ (711) B4 E 20 = (206) HEH (9l - ma)
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, 145,683 11,262,300 A116,617 |03 J == H|

O SLE=FQ 4HA(E=) 2133 % 138,500m x 3652 = 10,767,683
O 28F=H(za=) 100& x 14,000m" x 270 = 378,000
160,752 160,752 0104 H=74l
O EXNS &=k 5+ 2= 394& x34,000m x 128 = 160,752
712
=t , 148,663 6,024,625 1,124,038
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erg2dy 914,731 889,891 24,840
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il 914,731 889,891 24,840
444,813 464,224 A19,411 101 E=
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21 (700) At 5 1 (710) FIuI HE o (712) H4tl S : (101) o1zt el s mal)
o B @ @ o ) _
- o & o 5 2 & = 5] =
2 |g NS s o & o
dEZ 2 8,4763 x 339 x55A1 2t x 12& 184,608
w22 8,4763 x 243 x67A 2t x 12& 163,553
— 02 ExY 65,992
Of2t 2g4 22 22,600 x 8H x 365 65,992
- 52 F2H 30,660
A& JIHEY % 222l 68,1323 x53 x50 17,033
=& EZA 68, 1323 x 43 x 50 13,627
207,426 176,236 31,190 |02 JIEtAE =
O HEHE (233) 207 426
- X2 EE 207,426
AN2HIZ2Y 7,803% x 239 xX67Al 2t x 12& 144,294
ofta22g 20,8083 x 69 x 365 45,570
EUDRAg(NLRNBERY 27)
62,7203 x 73 x 40 17,562
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